B¢
[. Denote Amon:= { ],/-->/V\15 n(:'/N
H

AN\ - fiAM,n :
(y Q\j Morvtme ( ontihuity Of ?m‘valil"v we have
F(AM):F(OAM.;\)— P (Amn)
7 _;Tw F({“"““>M1’) ,?‘,’Z',m Py, n>m)

= POV >M) =P .05 M) .

n—-7+00

(2) - Penokt LJU:%,,\, the natwal ]C\lbamn of Res . TL% Z)y
definitin e have that Am,» ¢ Fi for new® | uhich

mphes b A= p e FP= 52 By

0-1 [ow 'l'vje{'%er Mk Hhe —JQct thet P(AM)=P(A/(O,') >M) >d
we obtem that P(Am) =1 .

B) s o direct chf?hchC of the fct thot P (Am)=|

Since wep Su "
| Am “of,/— >N\ for unew"

a) . Node that P(,i\,AM ) :,;c—iTOOP(A m) = ( Gb(‘l s Afaét

2 W)
hat weMQAM & For Vne” w:zl%t =¢0 The Prw§

s dhoafo completed




2.0 For telorl, EXe = E[Be-tB)] =B, - +EB, =0

For ne ™, and 0sti<~<tnSIl , €Ch, -0 Cpd e,Rn, we have

N L n
‘Z_lcixq = 2 Ci(By-+B) =5 ¢:B,. —(it;)"g, which
= 1=1 =1 t 1= g
Q
S Gaussian , Since B> isVCmuss;an chefs‘,

Thes Xty 15 G Centered Gaussian process

And fw 0<5<t <], E[XsXJ =E[(Bs-sB,>CBe-tQ,)]
= [ B.B, - Bs-tB, - 5B3,Be +5t B]
= §—=45-S5t+5t =50-t)

@ . For $¥5>5>-->5, >0, ond 1€{L2 0
_¢ -t
E[(Xr ,L:ng»(s:J = EXe R, — ’l,‘:‘g X5 X

= 84757 Si(-t)> - ‘]L_'_-% %i(l=5) = p Gince Xt i Gaussian

Then e hove Ke - E5Ks 15 :‘thfeth' f‘rbm 00‘()(5‘.)

t =1 ’

ond shee the latter is a n-5Ys tem , we oltam that

)Q—%Xs 'S .‘hc{lpedcvi of G'(xs.,"'Xs,.) };7 monetone Clags

lerima



) B‘j 2) We knw “4hat fW t>s €lo ') Xt Xs.
S molcfcolcnt o)t {he collectrm
{O{Xg‘QBT}

o<6l< <5~~<5
ne/wv*

87 Hhe fzct that ¢ 15 Q ﬁ‘9j54”" ond fx=<9'(G>
W’P 017{‘(1(')\ -é}m{ Xé ] o SXS 'S ;ho‘tredch‘t Of\;
j He Manetone class /ennq

@)
For 0Ls<t <], and Y Laundﬂcl meaFur&Irl,e -(MCHOK

F(.) . P ceuld jcvho( Q ‘aoqueo( measamgie functitm

G :IR® - R, (*‘j”"’F"""j? ncl wWe }la've

EIF( 4 FOXT— W+ Ks) X}
(6% |

M

E[F(XU“:] E[ i s**'*t 5>1st)
= E[GOXe- X, e 3| FX ]—_E(G,()(f_,—};x;y]
{7'% s

Which ts a=(X<) wmeasurable



Tho [Foxo 53] =

—E[FXo(Xs]
The meﬂ chome. .

E[FOODT ]

|

%



